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FINAL (NEW) COURSE
PAPER 1: FINANCIAL REPORTING

ANSWERS

1. (i) 1. Property,plantand equipment:As the land held for capital appreciation purposes
qualifies as investment property, such investment property should be reclassified
from property, plant and equipment (PPE) to investment property and presented
separately. As the Company has adopted the previous GAAP carrying values as
deemed cost, all items of PPE and investment property should be carried at its
previous GAAP carrying values. As such, the past capitalised exchange
differences require no adjustment in this case.

2. Investmentin subsidiary: On first ime adoption of Ind AS, a parent company has
an option to carry its investment in subsidiary at fair value as at the date of transition
in its separate financial statements. As such, the company can recognise such
investment at a value of Rs. 68,00,000.

3. Financial instruments: As the deferral loan is a financial liability under
Ind AS 109, that liability should be recognised at its present value discounted at an
appropriate discounting factor.  Consequently, the deferral loan should be
recognised at Rs. 37,25,528 and the remaining Rs. 22,74,472 would be recognised
as deferred government grant.

4, ESOPs: Ind AS 101 provides an exemption of not restating the accounting as per
the previous GAAP in accordance with Ind AS 102 for all options that have vested
by the transition date. Accordingly, out of 1000 ESOPs granted, the first-ime
adoption exemption is available on 800 options that have already vested. As such,
its accounting need not be restated. However, the 200 options that are not vested
as at the transition date, need to be restated in accordance with Ind AS 102. As
such, the additional impactof Rs. 1,000 (i.e., 9,000 less 8,000) would be recognised
in the opening Ind AS balance sheet.

5. Cumulative translation difference: As per paragraph D12 of Ind AS 101, the first-
time adopter can avail an exemption regarding requirements of Ind AS 21 in context
of cumulative translation differences. If a first-time adopter uses this exemption the
cumulative translation differences for all foreign operation are deemedto be zero as
at the transition date. In that case, the balance is transferred to retained earnings.
As such, the balance of Rs. 1,00,000 should be transferred to retained earnings.
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6.

Retained earnings should be increased by Rs. 20,99,000 on accountof the following:

Rs.
Increase in fair value of investment in subsidiary (note 2) 20,00,000
Additional ESOP charge on unvested options (note 4) (1,000)
Transfer of cumulative translation difference balance to retained 1,00,000

earnings (note 5)

After the above adjustments, the carrying values of assets and liabilities for the
purpose of opening Ind AS balance sheet of Company H should be as under:

Particular Notes Previous | Adjustments | Ind AS GAAP
Non-Current Assets

Property, plant and 1 1,34,50,000 (4,50,000) 1,30,00,000
equipment

Investment property 1 0 450,000 450,000
Investment in S Ltd. 2 48,00,000 20,00,000 68,00,000
Advances for 50,00,000
purchase of inventory 50,00,000

Current Assets

Debtors 2,00,000 2,00,000
Inventory 8,00,000 8,00,000
Cash 49,000 49,000
Total assets 2,42,99,000 20,00,000 2,62,99,000
Non-current Liabilities

Deferral loan 3 60,00,000 (22,74,472) 37,25,528
Deferred government 3 0 22,74,472 22,74 472
grant

Current Liabilities

Creditors 30,00,000 30,00,000
Short term borrowing 8,00,000 8,00,000
Provisions 12,00,000 12,00,000
Total liabilities 1,10,00,000 1,10,00,000
Share capital 1,30,00,000 1,30,00,000

Reserves:
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2.

Cumulative

translation difference 1,00,000
ESOP reserve 20,000
Other reserves 1,79,000
Total equity 1,32,99,000
Total equity and 2,/42,99,000
liabilities

(1,00,000) 0

1,000 21,000
20,99,000 22,78,000
20,00,000 | 1,52,99,000
20,00,000 | 26299000

(b) (a) Value of investment in Meru Ltd. as on 31t March, 20X2 as per equity
method in the consolidated financial statements of Sumeru Ltd.

Rs.

Cost of Investment 3,00,00,000

Less: Share in Post-acquisition Loss (1,00,00,000 x 35%) (35,00,000)
Less: Unrealised gain on inventory left unsold with Meru Ltd.

[{(50,000/3,00,000) x 1,00,000} x 35%)] (5,833)

Carrying value as per Equity method 2,64,94,167

(b) Value of investment in Meru Ltd. as on 31st March, 20X2 as per equity
method in the consolidated financial statements of Sumeru Ltd.

Rs.
Cost of Investment 3,00,00,000
Add: Share in Post-Acquisition Profit (1,50,00,000 x 35%) 52,50,000

Less: Unrealised gain on inventory left unsold with Meru Ltd.
[{(50,000/3,00,000) x 1,00,000} x 35%] (5,833)
Less: Dividend (75,00,000 x 35%) 26,25,000
Carrying value as per Equity method 3,26,19,167

(a) Extract of the Balance Sheet of RKA Private Ltd as at 31st March, 20X2
Rs. in lacs

Closing net defined liability (1,580 — 1,275) lacs

305

Extract of the Statement of Profit or Loss of RKA Private Ltd for the year ended

31st March, 20X2
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Particulars Rs. in lacs
Senvice cost 55
Net interest (Refer W.N.1) 21




Profit or loss 76
Other comprehensive income:

Remeasurements (Refer W.N.2) 80
Total 156

(b) Journal entries in the books of RKA Private Ltd

Particulars Rsinlacs | Rsinlacs
Profit & Loss Dr. 76
Other comprehensive income Dr. 80
To Cash (Contribution) 111
ToNet defined benefit liability (Refer WN 3) 45

Working Notes:
1. Computation of Net interest taken to the Statement of Profit or Loss
= Discountrate x Opening net defined benefit liability
= 8% x (1,400 —1,140) lacs
= 8% x 260 lacs
= 21 lacs (Rounded off to nearest lacs)
2. Computation of Remeasurements

Actuarial gain or loss on defined benefit liability:

Particulars Rs. in lacs
Opening balance of liability 1,400
Current service cost 55
Interest on opening liability (1,400 x 8%) 112
Actuarial loss (Bal. fig) _ 13
Closing balance of liability 1,580

Actual return on plan assets:

Particulars AmountRs. In lacs

Opening balance of asset 1,140

Cash contribution 111

Actual return (Bal. fig) 24

Closing balance of asset 1,275
4
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Net interest on opening balance of plan asset = Rs. 91 lacs (i.e. Rs. 1,140 lacs x
8%) (Rounded off to nearest lacs)

Hence there is a decrease in plan assets due to remeasurement for which
computation is as follows:

Actual Return — Net interest on opening plan asset
=Rs. 24 lacs - Rs. 91 lacs
= Rs. 67 lacs.
Net remeasurementwould be computed as follows:
Actuarial loss on liability +Loss on return
=Rs. 13 lacs + Rs. 67 lacs
= Rs. 80 lacs.

3. Computation of increase/ decrease in net defined benefit liability:

Particulars Tin lacs
Opening net liability (¥ 1,400 lacs - ¥ 1,140 lacs) 260
Closing net liability (¥ 1,580 lacs - ¥ 1,275 lacs) 305
Increase in liability _45

(b) Paragraph 37 of Ind AS 103, inter alia, provides that the consideration transferred in a
business combination should be measured at fair value, which should be calculated as
the sum of (a) the acquisition-date fair values of the assets transferred by the acquirer,
(b) the liabilities incurred by the acquirer to former owners of the acquiree and (c) the
equity interests issued by the acquirer.

Further, paragraph 39 of Ind AS 103 provides that the consideration the acquirertransfers
in exchange for the acquiree includes any asset or liability resulting from a contingent
consideration arrangement. The acquirer shall recognise the acquisition-date fair value of
contingent consideration as part of the consideration transferred in exchange for the
acquiree.

With respect to contingent consideration, obligations of an acquirer under contingent
consideration arrangements are classified as equity or a liability in accordance with Ind
AS 32 or other applicable Ind AS, i.e., for the rare case of non-financial contingent
consideration. Paragraph 40 provides that the acquirer shall classify an obligation to pay
contingent consideration that meets the definition of a financial instrument as a financial
liability or as equity on the basis of the definitions of an equity instrument and a financial
liability in paragraph 11 of Ind AS 32, Financial Instruments: Presentation. The acquirer
shall classify as an asset a right to the return of previously transferred consideration if

5
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specified conditions are met. Paragraph 58 of Ind AS 103 provides guidance on the
subsequent accounting for contingent consideration.

i) In the given case the amount of purchase consideration to be recognised on initial
recognition shall be as follows:

Fair value of shares issued (10,00,000 x Rs. 20) Rs. 2,00,00,000
Fair value of contingent consideration Rs. 25,00,000
Total purchase consideration Rs. 2,25,00,000

Subsequent measurement of contingent consideration payable for business
combination

In general, an equity instrument is any contract that evidences a residual interest in
the assets of an entity after deducting all of its liabilities. Ind AS 32 describes an
equity instrument as one that meets both of the following conditions:

/7

¢+ Thereis no contractual obligation to deliver cash or another financial asset to
another party, or to exchange financial assets or financial liabilities with another
party under potentially unfavourable conditions (for the issuer of the
instrument).

% If the instrument will or may be settled in the issuer's own equity instruments,
then it is:

= a non-derivative that comprises an obligation for the issuer to deliver a
fixed number of its own equity instruments; or

= a derivative that will be settled only by the issuer exchanging a fixed
amount of cash or other financial assets for a fixed number of its own
equity instruments.

In the given case, given that the acquirer has an obligation to issue fixed number of
shares on fulfilment of the contingency, the contingent consideration will be classified
as equity as per the requirements of Ind AS 32.

As per paragraph 58 of Ind AS 103, contingent consideration classified as equity
should not be re-measured and its subsequent settlement should be accounted for
within equity.

Here, the obligation to pay contingent consideration amounting to Rs. 25,00,000 is
recognised as a part of equity and therefore not re-measured subsequently or on
issuance of shares.
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3.

i)  Theamountof purchase consideration to be recognised on initial recognition is shall
be as follows:

Fair value shares issued (10,00,000 x Rs. 20) Rs. 2,00,00,000

Fair value of contingent consideration Rs. 25,00,000

Total purchase consideration Rs. 2,25,00,000

Subsequent measurement of contingent consideration payable for business
combination

The contingent consideration will be classified as liability as per Ind AS 32.

As per paragraph 58 of Ind AS 103, contingent consideration not classified as equity
should be measured at fair value at each reporting date and changes in fair value
should be recognised in profit or loss.

As at 31 March20X2, (being the date of settiement of contingent consideration), the
liability would be measured at its fair value and the resulting loss of Rs. 15,00,000
(Rs. 40,00,000 - Rs. 25,00,000) should be recognised in the profit or loss for the
period. A Ltd. would recognise issuance of 160,000 (Rs. 40,00,000/ 25) shares at a
premium of Rs. 15 per share.

(@) Threshold amountis Rs. 10,00,000 (Rs. 1,00,00,000 x 10%).

Segment A exceeds the quantitative threshold (Rs. 30,00,000 > Rs. 10,00,000) and hence
reportable segment.

Segment D exceeds the quantitative threshold (Rs. 54,00,000 > Rs. 10,00,000) and hence
reportable segment.

Segment B & C do not meet the quantitative threshold amount and may not be classified
as reportable segment.

However, the total external revenue generated by these two segments A & D represent
only 70% (Rs. 35,00,000 /50,00,000 x 100) of the entity's total external revenue. If the
total external revenue reported by operating segments constitutes less than 75% of the
entity total external revenue, additional operating segments should be identified as
reportable segments until at least 75% of the revenue is included in reportable segments.

In case of X Ltd., it is given that Segment C is a new business unit and management
expect this segment to make a significant contribution to external revenue in coming
years. In accordance with the requirement of Ind AS 108, X Ltd. designates this start-up
segment C as a reportable segment, making the total external revenue attributable to
reportable segments 87% (Rs. 43,50,000 / 50,00,000 x 100) of total entity revenues.

(b) As perIndAS 17, Leases:

(@) Since sale price is equal to fair value, profit of Rs. 10 lakhs (i.e., Rs. 60 lakhs —
7
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Rs. 50 lakhs) is to be recognised as income immediately.

(b) Assuming, the loss is not compensated by future lease payments at below market
price, the loss of Rs. 5 lakhs (i.e., Rs. 50 lakhs — Rs. 45 lakhs) should be recognised
immediatelyin the profit and loss account. In case, the loss is compensated by future
lease payments at below market price, then the loss of Rs. 5 lakhs should be
deferred and amortised in proportion to the lease payments over the period for which
the asset is expected to be used.

(c) Profit of Rs. 7 lakhs (i.e., Rs. 62 lakhs — Rs. 55 lakhs) should be deferred and
amortised over the period for which the asset is expected to be used. Profit of
Rs. 5 lakhs (i.e., Rs. 55 lakhs — Rs. 50 lakhs) should be recognised immediately.

(d) Rs. 3lakhs (i.e., Rs. 48 lakhs — Rs. 45 lakhs) should be deferred and amortised over
the period for which the asset is expected to be used. Loss of Rs. 5 lakhs (i.e.,
Rs. 50 lakhs — Rs. 45 lakhs) should be recognised immediately in the profit and loss
account.

(c) As perpara 7 of Ind AS 110/ IFRS 10, an investor controls an investee if and only if the
investor has all the following:

1. Power over the investee

Further, as per para 10 of the standard, an investor has power over an investee when
the investor has existing rights that give it the current ability to direct the relevant
activities, ie the activities that significantly affect the investee’s returns.

2. Exposure, or rights, to variable returns from its involvement with the investee

As per para 15 of the standard, an investor is exposed, or has rights, to variable
returns from its involvement with the investee when the investor's returns from its
involvement have the potential to vary as a result of the investee’s performance.

3. The ability to use its power over the investee to affect the amount of the investor’s
returns

An investor is exposed, or has rights, to variable returns from its involvement with
the investee when the investor's returns from its involvement have the potential to
vary as a result of the investee’s performance. The investor’s returns can be only
positive, only negative or both positive and negative.

Based on the above guidance, following canbe concluded:

(@) Tee limited has acquired 48% in Kay Limited. The purpose of acquiring the
shares by Teelimited init is to substantiate their position in the industry. Kay
Limited is a specialist entity that is engaged in advanced research in weapons.
Acquiring Kay Limited will help Tee limited to gain access to their research

8
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which would complementTee limited’s operations and business of developing
light weight and medium weight guns.

The key managementpersonnel who holds 52% shares of Kay Limited are key
for running Kay Limited’s business of advanced research and will help Tee
limited to acquire the market through ground breaking advanced researches of
Kay Limited. In case of acquisition of 52% stake of Kay Limited, the key
managementpersonnel mayleave the organisation and in such a situation Tee
limited will not enjoy any economic benefit or infact will lose the benefit of
unique technical knowledge of those 11 experts.

Hence, Tee limited would not be able to use its power over Kay Limited to affect
the amount of its returns which is one of the essential criteria to assess the
control, so there is no control of Teelimited on Kay Limited.

(b) Even though Teelimited has acquired 51% stake in Kay Limited yet it does not
have power over Kay Limited as it would not be able to exercise its existing
rights that give it the current ability to direct the relevant activities, ie the
activities that significantly affect the investee’s returns. In other words, the
relevant activity of Kay Limited is advance research in weapons which will help
Teelimited to substantiate their position. However, the research, development
and production will start only after stringent approval process of the defence
ministry of the Central Government. Thus regulations prevent Tee limited to
direct the relevant activity of Kay Limited which ultimately lead to prevent Tee
Limited to have control.

(d) (i) As per para 14 (b) of Ind AS 33 “Earnings per share”, “The after-tax amount of
preference dividends that is deducted from profit or loss is the after-tax amount of
the preference dividends for cumulative preference shares required for the period,
whether or not the dividends have been declared. The amount of preference
dividends for the period does not include the amount of any preference dividends for
cumulative preference shares paid or declared during the current period in respect
of previous periods’”.

In the given case, the amount of preference dividends Rs.1.75 crores declared for
the year ended March 31, 20X2 (i.e., the current period) is to be deducted from profit

or loss for calculating EPS.

(i) As per para 36 of Ind AS 33 “Earnings per share’, “For the purpose of calculating
diluted earnings per share, the number of ordinary shares shall be the weighted
average number of ordinary shares plus the weighted average number of ordinary
shares that would be issued on the conversion of all the dilutive potential ordinary
shares into ordinary shares. Dilutive potential ordinary shares shall be deemed to
have been converted into ordinary shares at the beginning of the period or, if later,
the date of the issue of the potential ordinary shares”.
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4, (a) (a) Points earned onRs. 10,00,000 @ 10 points on every Rs. 500 = [(10,00,000/500) x
10] = 20,000 points.

Value of points = 20,000 points x Rs. 0.5 each point = Rs. 10,000

Revenue recognized for sale | Rs.9,90,099 | [10,00,000 x
of goods (10,00,000/10,10,000)]
Revenue for points deferred | Rs. 9,901 [10,00,000 x (10,000/10,10,000)]
Journal Entry
Rs. Rs.
Bank Alc Dr. | 10,00,000
ToSales Alc 9,90,099
To Liability under Customer Loyalty programme 9,901

(b) Points earmed on Rs. 50,00,00000 @ 10 points on ewery Rs. 500 =
[(50,00,00,000/500) x 10] = 1,00,00,000 points.

Value of points = 1,00,00,000 points x Rs. 0.5 each point = Rs. 50,00,000

Revenue recognized for sale of goods = Rs. 49,50,49,505 [50,00,00,000 x
(50,00,00,000 / 50,50,00,000)]

Revenue for points = Rs. 49,50,495 [50,00,00,000x (50,00,000 / 50,50,00,000)]
Journal Entry inthe year 20X1

Rs. Rs.
Bank Alc Dr. | 50,00,00,000

To Sales Alc 49,50,49,505

To Liability under Customer Loyalty 49,50,495
programme

(On sale of Goods)

Liability =~ under  Customer  Loyalty | Dr. 42,11,002
programme

To Sales Alc 42.11,002

(On redemption of (100 lakhs -18 lakhs)
points)

Revenue for points to be recognized
Undiscounted points estimated to be recognized next year 18,00,000 x 80%
=14,40,000 points

Total points to be redeemed within 2 years =[(1,00,00,000-18,00,000) + 14,40,000]
10
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=96,40,000
Revenue to be recognised with respect to discounted point
=49,50,495 x (82,00,000/96,40,000) =42,11,002
(c) Revenue to be deferred with respect to undiscounted point in 20X1-20X2
=49,50,495 - 42,11,002 =7,39,493

(d) In 20X2-20X3, KK Ltd. would recognize revenue for discounting of 60% of
outstanding points as follows:

Outstanding points = 18,00,000 x 60% = 10,80,000 points
Total points discounted till date = 82,00,000 + 10,80,000 =92,80,000 points
Revenue to be recognized in the year 20X2-20X3
= [{49,50,495 x (92,80,000 /96,40,000)} - 42,11,002] = Rs. 5,54,620.
Liability under Customer Loyalty programme | Dr. | 5,54,620
ToSales Alc 5,54,620
(On redemption of further 10,80,000 points)

The Liability under Customer Loyalty programme at the end of the year 20X2-20X3
will be Rs. 7,39,493 — 554,620 = 1,84,873.

(e) In the year 20X3-20X4, the merchant will recognized the balance revenue of Rs.
1,84,873 irrespective of the points redeemed as this is the last year for redeeming
the points. Journal entry will be as follows:

Liability under Customer Loyalty programme | Dr. | 1,84,873
ToSales Alc 1,84,873
(On redemption of remaining points)

(b) Statement of cash flows

Particulars Amount (Rs.)
Cash flows from operating activities
Profit before taxation (10,00,000 + 18,00,000) 28,00,000
Adjustment for unrealised exchange gains/losses:
Foreign exchange gain on long term loan

[€ 2,00,000 x Rs. (50 — 45)] (10,00,000)
Decrease in tfrade payables
[1,00,000 x Rs. (50 — 45)] 5,00,000

Operating Cash flow before working capital changes 13,00,000

11
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Changes in working capital (Due to increase in trade

payables) 50,00,000

Net cash inflow from operating activities 63,00,000
Cash inflow from financing activity 50,00,000
Net increase in cash and cash equivalents 1,13,00,000
Cash and cash equivalents at the beginning of the 2,00,000
period

Cash and cash equivalents at the end of the period 1,15,00,000

5. (a) Thisis a compound financial instrument with two components — liability representing
present value of future cash outflows and balance represents equity component.

a. Computation of Liability & Equity Component

Date Particulars Cash Discount Net present
Flow Factor Value
01-Apr-20X1 0 1 0.00
31-Mar-20X2 Dividend 150,000 0.869565 130,434.75
31-Mar-20X3 Dividend 150,000 0.756144 113,421.6
31-Mar-20X4 Dividend 150,000 0.657516 98,627 .4
31-Mar-20X5 Dividend 150,000 0.571753 85,762.95
31-Mar-20X6 Dividend 150,000 0497177 74,576.55
Total Liability 502,823.25
Component
Total Proceeds 1,500,000.00
Total Equity
Component (Bal fig) 997,176.75
b. Allocation of transaction costs
Particulars Amount | Allocation Net Amount
Liability Component 502,823 10,056 492,767
Equity Component 997,177 19,944 977,233
Total Proceeds 1,500,000 30,000 1,470,000

c. Accounting for liability at amortised cost:
- Initial accounting= Present value of cash outflows less transaction costs

- Subsequent accounting = At amortised cost, ie, initial fair value adjusted for
interest and repayments of the liability.

12
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Assume the effective interest rate is 15.86%

Opening Interest Cash Closing

Financial B Flow Financial

Liability c Liability

A A+B-C

01-Apr-20X1 492,767 - - 492,767
31-Mar-20X2 492,767 78,153 150,000 4,20,920
31-Mar-20X3 420,920 66,758 150,000 3,37,678
31-Mar-20X4 337,678 53,556 150,000 241,234
31-Mar-20X5 241,234 38,260 150,000 1,29,494
31-Mar-20X6 129,494 20,506 150,000 -

d. Journal Entries to be recorded for entire term of arrangementare as follows:

Date Particulars Debit | Credit
01-Apr-20X1 | Bank Alc Dr. 1,470,000
To Preference Shares Alc 492,767
To Equity Component of Preference 977,233
shares Alc

(Being compulsorily convertible preference
shares issued. The same are divided into
equity componentand liability componentas
per the calculation)

31-Mar-20X2 | Preference shares Alc Dr. 150,000

ToBank Alc 150,000

(Being Dividend at the coupon rate of 10%
paid to the shareholders)

31-Mar-20X2 | Financecost Alc Dr. 78,153
To Preference Shares Alc 78,153
(Being interest as per EIR method recorded)
31-Mar-20X3 | Preference shares Alc Dr. 150,000
ToBank Alc 150,000

(Being Dividend at the coupon rate of 10%
paid to the shareholders)

31-Mar-20X3 | Financecost Alc Dr. 66,758
To Preference Shares Alc 66,758
(Being interest as per EIR method recorded)

13
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31-Mar-20X4 | Preference shares Alc Dr. 150,000
ToBank Alc 150,000
(Being Dividend at the coupon rate of 10%
paid to the shareholders)
31-Mar-20X4 | Financecost Alc Dr. 53,556
ToPreference Shares Alc 53,556
(Being interest as per EIR method recorded)
31-Mar-20X5 | Preference shares Alc Dr. 150,000
ToBank Alc 150,000
(Being Dividend at the coupon rate of 10%
paid to the shareholders)
31-Mar-20X5 | Finance cost Alc Dr. 38,260
ToPreference Shares Alc 38,260
(Being interest as per EIR method recorded)
31-Mar-20X6 | Preference shares Alc Dr. 150,000
ToBank Alc 150,000
(Being Dividend at the coupon rate of 10%
paid to the shareholders)
31-Mar-20X6 | Financecost Alc Dr. 20,506
ToPreference Shares Alc 20,506
(Being interest as per EIR method recorded)
31-Mar-20X6 | Equity Component of Preference shares 977,233
Ac Dr.
ToEquity Share Capital Alc 50,000
To Securities Premium Alc 927,233
(Being Preference shares converted in
equity shares and remaining equity
component is recognised as securities
premium)
(b) At 31st March, 20X4:
(4
Asset at valuation (1) 1,26,600
Accumulated depreciation Nil
Decommissioning liability (11,600)

14
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Net assets 1,15,000

Retained earnings (2) (10,600)
Revaluation surplus (3) 5,600
Notes:

(1)  When accounting for revalued assets to which decommissioning liabiliies attach,
it is important to understand the basis of the valuation obtained. For example:

(@) ifanasset is valued on a discounted cash flow basis, some valuers may value
the asset without deducting any allowance for decommissioning costs (a
‘gross’ valuation), whereas others may value the asset after deducting an
allowance for decommissioning costs (a ‘net valuation), because an entity
acquiring the asset will generally also assume the decommissioning
obligation. For financial reporting purposes, the decommissioning obligation
is recognised as a separate liability, and is not deducted from the asset.
Accordingly, if the asset is valued on a net basis, it is necessary to adjust the
valuation obtained by adding back the allowance for the liability, so that the
liability is not counted twice.

(b) if an asset is valued on a depreciated replacement cost basis, the valuation
obtained may not include an amount for the decommissioning component of
the asset. If it does not, an appropriate amount will need to be added to the
valuation to reflect the depreciated replacement cost of that component.

Since, the asset is valued on a net basis, it is necessary to adjust the valuation
obtained by adding back the allowance for the liability. Valuation obtained of
1,15,000 plus decommissioning costs of ¥ 11,600, allowed for in the valuation but
recognised as a separate liability = ¥ 1,26,600.

(2) Three years' depreciation on original cost ¥ 1,20,000 x 3/40 = ¥ 9,000 plus
cumulative discounton ¥ 10,000 at 5 per centcompound = % 1,600; total ¥ 10,600.

(3) Revalued amount ¥ 1,26,600 less previous net book value of ¥ 1,11,000 (cost X
120,000 less accumulated depreciation ¥ 9,000).

The depreciation expense for 20X4-20X5 is therefore ¥ 3,420 (¥ 1,26,600 x 1 /37) and
the discount expense for 20X5 is ¥ 600. On 31st March, 20X5, the decommissioning
liability (before any adjustment) is ¥ 12,200. However, as per estimate of the entity, the
present value of the decommissioning liability has decreased by ¥ 5,000. Accordingly,
the entity adjusts the decommissioning liability from ¥ 12,200 to ¥ 7,200.

The whole of this adjustment is taken to revaluation surplus, because it does not exceed
the carrying amount that would have been recognised had the asset been carried under
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the cost model. If it had done, the excess would have been taken to profit or loss. The
entity makes the following journal entry to reflect the change:

N 3
Provision for decommissioning liability Dr. 5,000
To Revaluation surplus 5,000

As at 31st March, 20X5, the entity revalued its asset at ¥ 1,07,000, which is net of an
allowance of ¥ 7,200 for the reduced decommissioning obligation that should be
recognised as a separate liability. The valuation of the asset for financial reporting
purposes, before deducting this allowance, is therefore T 1,14,200. The following
additional journal entry is needed:

Notes:
4 4
Accumulated depreciation (1) Dr. 3,420
To Asset at valuation 3,420
Revaluation surplus (2) Dr. 8,980
To Asset at valuation (3) 8,980

(1) Eliminating accumulated depreciation of ¥ 3,420 in accordance with the entity's
accounting policy.

(2) The debit is to revaluation surplus because the deficit arising on the revaluation
does not exceed the credit balance existing in the revaluation surplus in respect of
the asset.

(3) Previous valuation (before allowance for decommissioning costs) T 1,26,600, less
cumulative depreciation ¥ 3,420, less new valuation (before allowance for
decommissioning costs) T 1,14,200.

Following this valuation, the amounts included in the balance sheet are:

Asset at valuation 1,14,200

Accumulated depreciation Nil

Decommissioning liability 7,200

Net assets 1,07,000

Retained earnings (1) (14,620)

Revaluation surplus (2) 11,620
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Notes:

(1) ¥ 10,600 at 31t March, 20X4, plus depreciation expense of ¥ 3,420 and discount
expense of ¥ 600 = ¥ 14,620.

(2) ¥ 15,600 at 31st March, 20X4, plus ¥ 5,000 arising on the decrease in the liability,
less ¥ 8,980 deficit on revaluation =3 11,620.

Following this valuation, the amounts includedin the balance sheet are:

Asset at valuation 1,14,200
Accumulated depreciation Nil
Decommissioning liability 7,200

Net assets 1,07,000
Retained earnings (1) (14,620)
Revaluation surplus (2) 11,620
Notes:

(1) ¥ 10,600 at 31st March, 20X4, plus depreciation expense of ¥ 3,420 and discount
expense of ¥ 600 = ¥ 14,620.

(2) T 15,600 at 31st March, 20X4, plus T 5,000 arising on the decrease in the liability,
less T 8,980 deficit on revaluation =3 11,620.

6. (a) IndAS 38specifically prohibits recognising advertising expenditure as an intangible asset.
Irrespective of success probability in future, such expenses have to be recognized in profit
or loss. Therefore, the treatment given by the accountant is correct since such costs
should be recognised as expenses.

However, the costs should be recognised on an accruals basis.

Therefore, of the advertisements paid for before 31st March,20X2, Rs. 7,00,000 would be
recognised as an expense and Rs. 1,00,000 as a pre-payment in the year ended
31st March 20X2.

Rs. 4,00,000 cost of advertisements paid for since 31stMarch, 20X2 would be charged as
expenses in the year ended 31st March, 20X3.

OR

As at 31st March, 20X1, the mature plantation would have been valued at 17,100
(171 x 100).

As at 31st March, 20X2, the mature plantation would have been valued at 16,500
(165 x 100).
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Assuming immaterial cash flow between now and the point of harvest, the fair value (and
therefore the amount reported as an asset on the statement of financial position) of the

plantation is estimated as follows:

As at 31st March, 20X1: 17,100 x 0.312 = 5,335.20.
As at 31st March, 20X2: 16,500 x 0.331 = 5,461.50.
Gainor loss

The difference in fair value of the plantation between the two year end dates is 126.30
(5,461.50 - 5,335.20), which will be reported as a gain in the statement or profit or loss
(regardless of the fact that it has not yet been realised).

(b) A company which meets the net worth, turnover or net profits criteria in immediate
preceding financial year will need to constitute a CSR Committee and comply with

provisions of sections 135 (2) to (5) read with the CSR Rules.

As per the criteria to constitute CSR committee -

1) Net worth greater than or equal to Rs. 500 Crores: This criterion is not satisfied.
2) Sales greater than or equal to Rs. 1000 Crores: Thiscriterion is not satisfied.

3) Net Profit greater than or equal to Rs. 5 Crores: Thiscriterion is satisfied in financial
year ended March 31, 20X3 ie immediate preceding financial year.

Hence, the Company will be required to form a CSR committee.

(c) (a) It seems that the equity shares are acquired for the purpose of selling it in the near
term and therefore are held for trading. Such investments have been appropriately
classified as subsequently measured at fair value through profit or loss. Such
investments in equity shares cannotbe classified as subsequently measured at fair
value through other comprehensive income. The option to measure investment in
equity shares at fair value through other comprehensive income has to be made at
initial recognition. Therefore, equity shares that were held for trading previously
cannot be reclassified to fair value through other comprehensive income due to
change in business model to not held for trading.

(b) In absence of contractual terms of NCDs, it is assumed that the contractual terms
give rise on specified dates to cash flows that are solely payment of principal and
interest on the principal outstanding. The business model also includes sales of
these instruments on a regular basis. Hence, these instruments will be classified as
FVTOCI. Therefore, such NCD investments shall be classified as subsequently
measured at Fair Value through Other Comprehensive Income. The classification
does not change based on whether the investment is current or non-current as the
end of the reporting period. It seems the company has previously classified these
investments at fair value through profit or loss. The company must rectify this by

reclassifying as FVTOCI.
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